SEHEM

THMeFE6 A7HICHELE-ANFLBEIZCESTA2EZMNICAVWSEMELTEEE (2K
BEA—XDEBICOVWTEEMTEG ) 1220 TE., AIREMBROEEY,

BlgEEMmiEn . $f6&E6H13H




o Bl R

THX gy LA - ] - A O HAAL B B &
(LAE T = 1 54, 808, 000
BT = 1 3, 218, 000
fEELT = 1 3, 218, 462
B ) BH=0. 28m3 /NEEE LT m3 26 1,126 29, 276
e (1) BiEH JHEEC200kefk  BH=0. 28m3 m3 105 29, 829 3,132, 045
A s (1) B m2 34.8 1,642 57, 141
I ESERE T = 1 6, 285, 000
NZ T = 1 5, 603, 560
D ZHEA g - B17800 m 40 21, 698 867, 920
RS A HAT800 RiE = 1 26,951
W B IR A R A 1-65 0 TR T = 1 26, 378
N ZHEB g4 - B171000 m2 89 50, 650 4,507, 850
A4 B BATI000 R A 1 66, 096
W B 1E b AR B A-TH, 48T T = 1 105, 116
KR E A TRRE VU @ 100mm =X 1 3, 249
KT = 1 566, 324
ALK T. UKD BX AT m 29 14, 908 432, 332
FALKET (Zi7A) B A lEQ 3 44, 664 133, 992
R T = 1 115, 785
FEREEE X T FEREE X 1 - £210cm m 38. 1 3, 039 115, 785
gk L T N 1 45, 305, 000
T = 1 7,249, 420
b PNRE R3S m2 528. 2 984 519, 748
IRHHIY ggﬁﬁgg% fkﬁ - n2 2, 608. 4 2, 580 6,729, 672
R = 1 38, 055, 964
ARy MRT REEHS T 2 SR ~ b m2 358. 4 2,222 796, 364
YA NVIEA~ Y MRT HCE T m2 2, 400. 6 14, 172 34, 021, 303
JEEREE~ v MRT S KU AHILS Y m2 377.6 8, 576 3, 238, 297
% T = 1 18, 154, 000
IE% T S 1 18, 154, 000
TR T = 1 11,777, 605
=T L— E R 7 A T EREME
(2tLL B3t ¢ 205) = 1 11,777, 605
AtLL F3tARE - 1) 3 RiER 2
T BER T = 1 6, 031, 440
SERT VT — (=GR 10 177, 342 1,773, 420
oy 7RV NT A — HIFLAE ¢ 50mm 24/ &P =
_ Iy \/‘74?#0)%%%@& EBR 7 385, 447 2,698, 129
U A LT RE - R %éﬁ%i(é; G 1 843, 961 843, 961
BT BRI H 2 357, 965 715, 930
= Ofth# H = 1 345, 432
RiEEEE BB A 24 14, 393 345, 432
ERCRES S 1 72, 962, 000
Il E S 1 13, 160, 852
Im i (i B odh) = 1 4, 283, 000
TR S 1 3,401, 456
- TR 53 i - RHLAST TR 6. 4t
b7 W=y (945) B CHL T B3k - 2 15,99 1 091, 986
I R sl ey A [m] 21 1,116,360 2,232,720
E ) L—/LE ] AR L—/L @) 5] 1 76, 750 76, 750
B g By S 1 882, 011
7 H — e T (=N 17 51, 883 882, 011
ImEE i L) S 1 8, 127, 100
Bl iRBidGE T (i 1) = 1 750, 752
W T EH = 1 86, 122, 852
HE Bty = 1 23,924, 148
T R O BUGHER 2} S 1 0
T35 Ul S 1 110, 047, 000
— B S 1 18, 453, 000
THIPRAE = 1 0
— R PR R = 1 18, 453, 000
SEEFEENN S 1 0
TS filiA& = 1 128, 500, 000
TE B 2 A N 1 12, 850, 000
A AR = 1 141, 350, 000

mE, ABHIZERHEORWTIRE (L 2) MBS GE OESE TR K ORBMERIZTEHO 2 OHE] (L
4) BB ENTSGE OBRERE FE LiTS) o0 Tid, EREEOME L LM E LThHET 5,




